BHO-7:
da i= 450 a 500 milioni di iterazioni; ds=0.3E10; segue status 500 mil.:

****************************<br />

1=out-software i-esimo<br />
2=i=500000000<br />
3=r0=2.725313315934E+26<br />
4=r1=2.725313315934E+26<br />
5=rpunto0= 86458372.850024<br />
6=rpuntol=86458372.850024<br />
7=rduepuntiO=-1.0841011430429E-10<br />
8=fi0=12.906398384468<br />
9=fi1=12.906398384468<br />
10=fipunto0=2.9183808598313E-27<br />
11=fipunto1=2.9183808598313E-27<br />
12=fiduepuntiO=-1.8516657213504E-45<br />
15=Kk(f(rpunto1)) = 0.95757187002756<br />
*k%chr />
16=time_s=ACC=clock_fisso=1.3516666674929E+18<br />
17=time_t=t0= 559166158908.33<br />
18=time_t=t1=559166158908.33<br />
19=tpunto0=1.1905614588361E-6<br />
20=tpuntol=1.1905614588361E-6<br />
21=tduepuntiO= 2.8590117066623E-24<br />
*k%chr />

22=v=86458368.797514<br />

23=v_TG= O<br />
24=v_TOT=86458373.211391<br />
25=fi_gradi= 739.48215614448<br />
26=x0=2.5692766008631E+26<br />
27=y0=9.0892816138365E+25<br />



28=x1=2.56927660358E+26<br />
29=y1=9.0892816234482E+25<br />
***<br />

36=rgi: = 3.12E+26<br />

****************************<br />



